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INSTRUCTIONS TO THE CANDIDATES

This Question-booklet is printed in English and Hindi languages. Candidates should select any
one of the two versions according to their convenience.

. The question paper contains 100 questions. The examinee should verify that the requisite

number of questions are printed in the question paper, otherwise he should ask for another
question paper.

All questions are compulsory.

All questions carry equal marks.

. The cover page indicates the number of pages in the question paper. The examinee should verify

that the requisite number of pages are attached in the question paper, otherwise he should ask for
another question paper.

Read carefully the instructions given on the answer sheet supplied and indicate your answers
accordingly.

Kindly make necessary entries on the answer sheet only at the places indicated and nowhere else.

Examinees should do all rough work on the space meant for rough work on the last page of the
question paper and nowhere else, not even on the answer sheet.

. Ifthere is any sort of mistake either of printing or of factual nature in any question, then out of the

Hindi and English versions of the question, the English version will be treated as standard.
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Directions (Question Nos. 1 to 5) : For each
of the following words below, a context is
provided. From the given alternatives, pick
the word or phrase that is closest in meaning
in the given context.

1. Consignment Courier companies
suspect someone is leaking details of
their consignments leading to thefts.

(A) Goods sent for delivery
(B) Documents
(C) Petrol
(D) Delivery boy
2. Hoarded : The government has seized
5000 tonnes of hoarded pulses.
(A) Hidden or stored away
(B) Purchased
(C) Of poor quality
(D) Imported
3. Marginal : There is a marginal drop in
the growth of companies this quarter.
(A) Large change
(B) Increase
(C) Small change

(D) Decrease

4. Exhilarated : The monkeys were
exhilarated at the sight of bananas.

(A) Unhappy
(B) Sad
(C) Very happy
(D) Aggressive
5. Dismantle : The shops on roadside were
dismantled during widening of the road.
(A) Relocated
(B) Destroyed
(C) Vacated
(D) Decorated
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Directions (Question Nos. 6 to 10) : Read the
following excerpt and answer the questions
asked at the end. The answers to the
questions should be based on the excerpt.

In various parts of India, the common people
displayed a heroism which was of an
unprecedented character. Thus, while long
processions of unarmed men and women
proceeded in file to take possession of police
stations, they were fired upon by Indian
constabulary. Scores were shot dead, many
wounded; yet the processions proceeded after
brief interruption. In one case, an old woman
was shot dead after three rounds of fire; and
yet as she died, she held aloft the National
Flag with which she had voluntarily marched
at the head of the file. She had done so
because she did not want young men to lay
down their lives while there were people like
her with all their age.

6. Long processions of unarmed men and
women proceeded in file

(A) to take possession of the National
Flag

(B) to shoot the Indian constabulary

(C) to take
stations

possession of police

(D) to briefly interrupt the processions
7. The unarmed men and women were
fired upon by

(A) those who were
National Flag aloft

holding the

(B) the military
(C) the British

(D) the Indian constabulary
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8. The word ‘scores’ in the excerpt means

(A) music

(B) drumbeat

(C) many

(D) procession

9. The old woman laid down her life

because

(A) she did not realize that the Indian
constabulary will shoot her

(B) she was forced to by her children

(C) she did not want the young to die
while older people of her age were
alive

(D) the procession was interrupted

10. After many were shot dead and

wounded, the processions

(A) stopped immediately

(B) consisted only of older people

(C) consisted only of leaders and no
common people

(D) were resumed after brief
interruption
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Directions (Question Nos. 11 to 15) : Read
the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.

Even today, people in the countryside are alive
to the neem’s versatile virtues. It is seldom cut
down and is still planted in and around
human settlements. Tradition decrees that,
when the Indian new year comes round about
midsummer (in April) and the neem bursts
into prodigal, fragrant white blossom, its tiny
flowers mixed with jaggery should be cooked
into a special side dish, both as a tonic relish
to mark the commencement of fresh year, and
to remind people that life is an admixture of
sweet and bitter experiences. The latter
sentiment seems largely imaginative, for neem
flowers are not bitter, though the leaves and
fruits are. They have a characteristic resinous
aroma and are mildly astringent.

11. Which of the following statements is
true?

(A) The neem fruits, flowers and leaves
are bitter.

(B) The neem leaves are bitter; the
fruits and flowers are not.

(C) The neem fruits are bitter; the
leaves and flowers are not.

(D) The neem fruits and leaves are
bitter; the flowers are not.

12. The neem flowers are
(A) fragrant and are yellow in colour
(B) white in colour and are bitter

(C) very big and have a characteristic
resinous aroma

(D) white and are fragrant with a
resinous aroma

[P.T.O.
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13.

14.

15.

16.

Indian new year comes

(A) during the middle of the summer
(B) at the beginning of the summer
(C) at the end of the summer

(D) any time during the summer

Neem trees
(A) are often cut down
(B) are usually cut down

(C) are necessarily cut down during
midsummer

(D) are rarely cut down

Even today, people in the countryside

(A) are aware of the many good
properties and uses of neem

(B) are not aware of the many good
properties and uses of neem

(C) often cut down neem trees

(D) avoid planting neem trees close to
where they live

Your subordinate has submitted a
report to you, and you find out that
parts of the report are plagiarized. What
will you do?

(A) Accept the report as it is

(B) Change the plagiarized parts
yourself without telling the
subordinate

(C) Tell your subordinate to make only
cosmetic changes to the plagiarized
parts

(D) Ask your subordinate to completely
rewrite the plagiarized parts in his
own words
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17.

18.

19,

20.

You are a shopkeeper. One of your

regular customers asks you to give a bill

for a higher amount than what he paid.

What will you do?

(A) Tell him that you can only give a
bill for the correct amount

(B) Agree to give the bill if he pays you
a fraction of the excess amount

(C) Tell him you do not have a receipt
book

(D) Agree to give the bill for higher
amount

You are working in a car company and
you found that one of the parts in the
engine is not up to the specifications,
which can lead to more toxic emissions.
Despite informing your immediate
superior no action is taken. What will
you do?

(A) Transfer to a different division

(B) Leak this news to a newspaper
(C) Report to the head of your division
(D) Take no action

You are in a car with your colleague and

you are late for an important meeting.

Your colleague wants to jump the next

red light. What will you do?

(A) Offer to check whether a traffic
policeman is present or not

(B) Tell your friend to obey traffic rules

(C) Tell your friend to speed up so that
you do not get caught

(D) Tell your friend that it is OK to
jump the signal if there is no traffic
on the road

Your neighbours have cut a lot of trees
in their compound because they say
that the house is very dark due to the
thick foliage. How will you handle this?

(A) Ignore it
(B) Fight with the neighbours
(C) Report to the appropriate authoritics

(D) Plant trees in your compound to
compensate

[P.T.O.
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21.

22.

23.

You are a police officer. You hear about
a trouble brewing in your jurisdiction,
which can become a full-blown riot if
immediate action is not taken. What
will you do?

(A) Inform your superiors and wait

(B) Take immediate action and inform
your superiors

(C) Decide on the course of action
purely based on who will be
affected by the riot

(D) Wait for the riot to start before
taking action

You are the warden of a hostel. The
students want to have a ‘rain dance’,
which will involve wastage of a lot of
water at a time when there is drought
everywhere. How will you deal with this
situation?

(A) Talk to the students and convince
them to celebrate without wasting
water

(B) Allow the party because otherwise
the students will be unhappy

(C) Deny permission without
explaining the reason to the
students

(D) Give permission if the students
agree to pay for a tanker of water

A lady working in your office is being
harassed by her ex-boyfriend, who is
your colleague. She asks you for advice
on how to deal with this problem. What
will you tell her?

(A) Tell her that you will talk to your
colleague about this

(B) Talk to his friends and family and
ask them to advise the boy

(C) Tell her that she brought it upon
herself

(D) Tell her to report the harassment to
Women'’s Cell of the organization
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24.

25.

26.

You and two of your friends are
travelling by train. Your ticket status
is RAC, ie. reservation against
cancellation. When the ticket checker
comes, he agrees to give you three
berths if you give him a bribe. What will
you do?

(A) Agree to give the bribe since it is a
long journey

(B) Refuse to give the bribe and travel
sitting in your allotted seats

(C) Forcibly occupy the berths by
threatening the occupants

(D) Call your friend who is an officer in
the railways to ask the ticket
checker to give you a berth
anyway, without paying the bribe

Find the number when added to itself
13 times yields 112.

(A) 8
(B) 9
() 10
(D) 11

How many squares are present in the
following figure?

1
LL]

(A) 13
(B) 14
©) 15
(D) 16
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27. Mr. Kumar’s paternal grandfather has Directions (Question Nos. 30 to 33) : Study
one son and no daughter. Mr. Kumar’s the information given below carefully and
daughter has two paternal aunts and answer the questions.
three paternal uncles. Therefore,
Mr. Kumar’s paternal grandfather has
what numbers of granddaughters and
grandsons respectively?

A, B, C, D, E F, G, Hand I are nine houses.
Cis 2 km east of B. Ais 1 km north of Band H
is 2 km south of A. Gis 1 km west of H while
D is 3 km east of G and F is 2 km north of G.
I is situated just in the middle of B and C

. 205 while E is just in the middle of H and D.
(B) 2, 4
30. The distance between E and G is
(€ 3,3 i e
P St (B) 1 km
(C) 15 km

28. K, L, Mand N are four persons. K is the
oldest but not the poorest. M is the (D) S km
richest but not the oldest. L is older
than N but not than K or M. K is richer
than L but not than N. The four persons
can be ordered (ascending), in respect (A) 1 km
of age and richness, respectively as

31. The distance between E and I is

(B) 2 km
(A) NMLK, LNKM (©) 3 km
(B) NLMK, LKNM (D) 4 km

(C) NLMK, KLNM
32. The distance between A and F is

(D) LNMK, LKNM (A) 141 km

(B) 1 km

29. A gardener has made changes to
his existing rectangular garden by (C) 2 km
decreasing its length by 40% and
increasing its width by 20%. The area

of the new garden

(D) 3 km

33. The distance between E and C is
(A) has decreased by 12%

(A) 1-41 km
(B) has decreased by 20% (B) 1 km
(C) has decreased by 28% (C) 2 km
(D) is exactly same as the old area (D) 1-45 km

P/A/11/2016/2-A 11 [P.T.O.
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(A) (B) (C) (D) (D) 86453
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34.

Choose the correct mirror image of the
following image.

R 6

—

—

O

(@] ol o 0 Oy ©

=

3%

(A) (B) (€) (D)

35.

36.

Find the odd one out.

(A) D22R

(B) G29M

(C) T36P

(D) Vv24B

There is a specific relation between
figures 1 and 2. For establishing
the similar relationship between

figures 3 and 4, identify the right one
for figure 4.

O =+ )
& ([l 7
+ -3 A
1 . 5 4
A = = v
b3 ] A —
e A le) O
(A) (B) (©) (D)

P/A/11/2016/2-A
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37.

P
O

Which is the missing square?

e

O

01O Fo-

(A) (B) (€) (D)

38.

39.

How many squares are there in the
following figure?

A) 10
(B) 11
) 18

(D) 15

If PALE is coded as 7865 and EARTH as
58432, then ALERT is coded as

(A) 84543
(B) 86743
(C) 86543

(D) 86453

[P.T.O.




40.

41,

42.

et 1 el # GODREJ %1 KFSEPH
for@r ST &1 39 @@ H wonefl § RED &
Toran smom

(A) EPH
(B) ESF
(C) SFE

(D) EFS

S ic i ST | O mn%\saim-shsﬁ%ﬁam

7w Tifvea Ty ¥ 7wy % ITgER,

Tt % % g W gu f T B ARY?
6:42:9:7?

(A) 99

(B) 54

) 36

(D) ¥ & 4 % T

T gl § Fiemm e W A w71
qim?

‘30T AR FIRLISEH TS H TG ATF
Tl T AR R W € W T R

(A) TRR 1 +iifoes afa

(B) T fhama 3fR w zwast

(C) Tt w1 wgem

(D} =afth w1 THRE §9 J FFR T

P/A/11/2016/2-A

43.

45,

R 7 g ¥ wdE’ weg T 2 = e

“nftrg B e wE WY ¥ aiiEes @
Trrerwuees e § iy e 21"

(A) THR HET

. (B) <A HRY B

(C) wegig s

(D) Gt ST

FEAR ey ®4 H % GER W WEH
1 =R |

(a)y “mfa

(B) Efm

(C) TER

(D) gl ug et

o % T8I T I TR
(i) | =R % fag e,
(i) %ﬁﬁo o mﬁhﬁ SATeH|

(i) T 1 Ao 3R IO Tre e )

(iv) I8 g e H fow =ik ¢ oR-vr |

el H HIEAT|

(v) o<1 I T wE WB@WW“W
% gone P

(A) @), (i), (i), @v), ()
(B) (@), (), (v), (v), (1)
(C) (), (), (@), (i), ¥)
(D) (i), (i), (v}, (iii), ()

[




41.

42.

In a coding system, GODREJ is written
as KFSEPH. In such a coding system,
RED will be written as

(A) EPH

(B) ESF

(C) SFE

(D) EFS

Carefully observe the pair of numbers
to the left part of ::, which has certain
relationship. Using the same relation-
ship, what should be the missing
number of the pair on the right side?

6:42::9:7?

(A) 99

(B) 54

(C) 36

(D) None of the above

In the given context, identify the
meaning of the word ‘constitution’.

“His delicate constitution could not
withstand the high heat and humidity
in Mumbai.”

(A) Physical character of the body
(B) A book or a document
(C) Set of rules

(D) Mental makeup of a person

P/A/11/2016/2-A
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43. In the following sentence, identify the

meaning of the word ‘sharpens’.

“Learning Mathematics sharpens one’s
logical and analytical skills.”

(A) Makes pointed
(B) Causes to improve
(C) Makes dull

(D) Makes dangerous

. Newspaper should ideally be a medium

of communication of
(A) Tumour

(B) paranoia

(C) propaganda

(D) information and facts

. Choose the option indicating the correct

sequence of the following sentences.

(i) Add salt to taste.

(ii) Boil —% kg of potatoes.

(iii) Fry onions and add the potatoes.

(iv) Peel the boiled potatoes and chop
them into small pieces.

(v) Heat the oil and add the spices and
onions to it.

(A) ), (1), (i), (iv), (v)
(B) (i), (ii), (iv), (v), (i)
(C) (iv), (i), (0), (i), (v)
(D) (), (iv), (v), (i), (i)

[P.T.O.




46.

ahe did + @ § vt &g fad = %
a8 WH-g ¥ TR Y e ® 1 de e

. g giteH g7

47.

' 48,

(A) 20,
(B) 45
{C) 55

(D) 90

WH Y @ T GlEd B @ e
H Higa € 70 § TU T ANEA H FHG
¢ 50 ¥ 9t wm F4 € 380 @ =@ 7, A
F47 foram 3T w{iR?

A) 2
B) 3
{C) 4

(D) ife ety &

ardia o, Sy waE B Sef TRl emswshm
# A T AW A AR FH G901 el IAgEshm
1 AT 2D A AR 1 9% 9 TE 3
el 75 WReT F WG Al 3R 36 A1
B weft AfwT & wife 5w T Tl awget d
sft === = giaen 3, nswshiy gRmmIRi
% form, =0 o1 ATl ATEHHT B T TG4 €
AR g o T R

¥ IgTad h TR AR WWdR w aen
HU ¢

(A) H T H AEHE, 3EH-mRe %
e a1ftrs RS

(B) ¥ 3 W =gA wAAHE 2
(C) 379 TIEH Fgd FIAHS 8

(D) 319 TTeh T8 ! YLang el I

P/A/II/2016/2-A
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49,

50.

51.

7o faadl gram 89 21 39 wd B R

(A) Taed) ATER W oam iR add B &
(B) Tawrdl srmeR W e it wedt B #

€) wft famd widt @0 ¥ IR I wEN
Froar 1l 8

(D) $° faal Tam B & il andl

TR W A goges Faw Reman ¥ Frg
syl % foe fen s 21 fROof, TR aw
L PiECEE SRV S C AR TR
F= * T w SivEr A 6 R @ Rm A
&g T I YR I8 a2 & 75 3@ f A 9ga
Q 29 ¥ wEe wHW s RE T R s
GIRERRCT

(A) Tegee iR e i 3

(B) & o AR ¥w & HF Al # gogde
o < R

(C) 2T o= TR ¥ T Tges o - @

(D) ﬁa‘rﬁﬁw%ﬁaa@z,w%ﬁ
o T I qH T 3

TF el &7 IF A ¥ @ B B o9 39
3 ¥ Afgen witel B gen, g atEt f
e & ol B A WIH W10 TE At
3 8 IW I & a1 5 ufgen Ant H A =g
vt ¥, 99 g Wb v wfeen @l i
& THETH W S 3| B A ¥ TR 2ef
3 7 v g 7

(A) 15
(B) 30
(C) 36

{0) 45

-




46.

47.

48.

In a basketball match, all ten players
shake hands with each other once after
the match. How many handshakes will
be there?

(A) 20
(B) 45
(C) ‘85
(D) 90
Shyam buys pineapples and coconuts.
A pineapple costs ¥ 70 and a coconut
costs ¥ 50. If Shyam spends a total

amount of ¥ 380, how many pineapples
does he purchase?

(A) 2
(B) 3
(€) 4

(D) Data is insufficient

In the past, consumers would rarely
walk into an ice cream store and order
low-fat ice cream. But that is not the
case today. An increasing health
consciousness combined with a much
bigger selection of tasty low-fat items
in all categories has made low-fat
ice cream a very profitable item for
ice cream store owners.

The statement that best supports this
paragraph is

(A) low-fat ice cream is more profitable
to the store owner

(B) customers were very selective in
the past

(C) customers are very selective now

(D) customers do not worry about the
taste now

P/A/11/2016/2-A
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49,

50.

51.

Some sportspersons are rich. Some are
arrogant. These imply that

(A) sportspersons are generally rich
and arrogant

(B) sportspersons are generally poor
and arrogant

(C) all sportspersons are arrogant
irrespective of whether they are
rich or poor

(D) there are some sportspersons who
are rich, but not arrogant

Death penalty is given only in rarest of
rare crimes in our country. Even then,
there is a strong demand for scrapping
this mode of punishment in a modern
society like ours. The main argument in
this direction is based on the fact that
several countries have scrapped it
recently. This implies that

(A) death penalty does not
elsewhere

exist

(B) many people get death penalty
every year in our country

(C) only our country awards death
penalty now

(D) many people feel that death
penalty is not a good method of
punishment

In a local train starting from station A,
the number of female passengers is half
the number of male passengers. At the
next station, 10 male passengers leave
the train and 5 female passengers
board the train, which makes the
number of male and female passengers
equal. How many passengers entered
the local train at station A?

(A) 15
(B) 30
(C) 36
(D) 45

[P.T.O.




52.

53.

54.

firfl % v W 4w w1 e TR,
fored 3@ # 960 wd &@ B G T
il % wgp § @ 9 i 3ufdm T @ %,
@ TY @I 90 @Y 38W % oY € 40 Wi
fth @9 5 A1 US| 3 N R we, S
uiél § uferq 9, o

A) 8
(B) 12
€) 16

(D) 24

S 3 T AR AR 30 FQA g w,
‘g8 3WH g3 H aoit A S B A R
S & 39 wfgen &1 werg dm

(A) == F
(B) wefisi =
(©€) TFEgL =
(D) 3 H & g T

g foml, emam asfl wierd 3 e gl s
3in 3R F @ e ) sEE e Fnv, 3
TE F AR F AAF HaEEE 81
Rl F FH F EWEY, GER H aehdr o
frfm d@m 2 W vigw ¥ Fa @ @
TR farg & 7 aga-8 <ien s maEE
ey 31 dew fawga & ™ #)

3 sg=ee @l waR Afvs wmdd A a9
FoH &
(A) T HE 3 fH el B A R

(B) SURIR Rl #1 &3 & AGER HAHEI
T B

(C) 994 & WY Rl ®l HAH T EEY
2ol T R

(D) ¥ & & orfla & g 4 wE it

eR §ATd §

P/A/11/2016/2-A
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g7 (vW Ho 55 ¥ 59) : F=fafas &% wm #
e U FUA § SR 36 AW Q) gdurend 1 R 1
4 Tt | e weA W ER e o w e
F-H gdemen wo § sfifaa 21 A faeedi o
¥ T wel Iw gy

55. &Y :

56.

u-fead frre ¥ & & 4m g0 R
™ FA 200 W A A 150 @ @A
et 3 SR

YT 1
M | 75% fEm faare 9)
QAYT 11

¥ Teasi A A faenfe @ afts
3731 el |

(A) TEHTON T gTEed &

(B) qHUON 11 yTEed

(C) a1 ¥ geuromd wsmewEh #
(D) g oft gHumon garEed T #

YA :
A guEER % Age A 9 W
‘T R AREE # OEHN WO
u¥TE TS R

“ﬁ‘-‘mﬁnl -

Tl A sl & e F 9Hg|
qaYTon 11

IR F AR ) A T 3

(A) gHETO I geTEen

(B) JHRON 11 HeTERIE ®

(€) ﬁé’rﬁwniwramsﬁ‘é
(D) 1§+ gEawon yuEerel 6 @




52. A group of friends organized a party
and planned to spend ¥ 960 for total
expenses, Four of them could not make
it. Hence, the remaining people had to
pay ¥ 40 per head to cover the
expenses. The number of people who
attended the party were was

(A) 8
(B) 12
(C) 16
(D) 24

53. John points out to a lady and says,
“She is the mother of his son’s wife's
daughter.” How is the relation of the
lady with John?

(A) Uncle

(B) Nephew

(C) Daughter-in-law
(D) None of the above

54. These days almost all festivals have lost
their traditional fervour and enthusiasm.
The main reason for this is excessive
commercialization of such festivals.
Market forces dictate the way these
festivals are to be celebrated. The only
plus point of this scenario is that many
of these festivals have surpassed their
original regional nature.

The statement that best supports this
paragraph is

(A) everyone celebrates festivals these
days

(B) most of the festivals are celebrated
region-wise

(C) nature of celebration has changed
over a period of time

(D) these days we celebrate many more
festivals compared to the past

P/A/11/2016/2-A
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Directions (Question Nos. 55 to §9) : In each
of the questions below, there is a statement
followed by two assumptions I and II.
Consider the  statement and  given
assumptions, and decide which of them is
implicit in the given statement. Choose. the
correct answer from the given alternatives.

55. Statement :
In one-day cricket match, the total
runs scored by a team were 200,
out of which 150 were made by
spinners.

Assumption I :
The team had 75% spinners.

Assumption II :

Fast bowlers outperformed the
spinners.

(A) Assumption I is strong
(B) Assumption II is strong
(C) Both the assumptions are strong

(D) Neither assumption is strong

56. Statement : |
The ‘Swachh Bharat Campaign’ led
by the honourable Prime Minister
has a great impact on the society.

Assumption I :

People understood the importance
of cleanliness.

Assumption II :
People across the country liked the

campaign.
(A) Assumption I is strong
(B) Assumption II is strong

(C) Both the assumptions are strong

(D) Neither assumption is strong

[P.T.O.



57. F9 : _ %W (37 Ho 60 ¥ 64) : T W T XI F
Feeha aft foriiy el 8 aggait | 450 BE 3 fw-wme, TR o wrEE-mE @
= Vbt % forg <ffed aifiefln Fm when 4, e ot Framger 2

TIRA A % forg @ sa @) st sl % arg . 167
R +ft Rt & . 60
< A S 0w g Ed § sferes-mrer e . 175
ESEUSIRIE e & e . 199
difgr Freelt | 9 U 0 meE WE-TE e . 191
fret el Som Mt 62
(A) JEUROT [ W 3 Feer i T 9 : 48 -
(B) TEEROT 11 YR § ael WEH-3TE 3 1 : 52
(C) 3 & o e @ 60. TR o saet iifvs-wra § %a gu?
(D) i oft QU g T A A 15
58, H : B) 21
wft @o% M W o w % fom (C) 30 {
IR g e ¥ T W e (D) 42 _
ﬁm; A, S F f 61. Toha B Haat T foma A Fa g0°
o 1 A) 152
W%mmﬁ‘ﬁ%l (B) 144
IR 1T : (C) 61
TS T g qhod) = B (D) 56
(A) GHURON [ YEed & 62. T o TRR Aol FH-Y-F0 uw o frew #
(B) Htmon II Wl 3 urd ge &7
(©) I A gHumend e ¥ () 210
(D) ot gHaron W T (B) 203
: (C) 170
59, % : (D) 94
weft Afgen wet 3 A 4R Sefie wm
1 @ T 3 63. ae <l fawal 3 Yol Bl 6 e frah &7 |
YEURVT T : (A) 56 !
i # AW IcfiSA % Ay 9gd FH (B) 61
T A (C) 152 v oo
QYR 11 (D) 162

e W A IdfleT koA 7. TE 98

i 3 64. W BET H e fhaft §, N wH-A-FH @

Terga & o g 7
(A) YEURT 1 AR & A) 450
(B) YR I1 R+Teneht B (B) 390
(C) aF! & qHuRemd g § (C) 304
(D) 1§ *f wEuTen gavEe T & (D) 167
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57.

58.

59.

Statement :
Nowadays all departmental
stores do have surveillance video
monitoring cameras to curb
stealing of items.

Assumption 1 :

People have general tendency to
steal things.

Assumption II :

Video monitoring
preventing theft.

helps in

(A) Assumption | is strong

(B) Assumption II is strong

(C) Both the assumptions are strong
(D) Neither assumption is strong

Statement :
All meticulous people find suitable
time to take rest. Raju, in spite of
his busy schedule, finds time to
take rest.

Assumption 1 :

Raju is a meticulous person.
Assumption 1I :

Raju is a hard-working person.
(A) Assumption I is strong
(B) Assumption II is strong
(C) Both the assumptions are strong
(D) Neither assumption is strong
Statement :

All women’s organizations have

welcomed the new sexual
harassment law.

Assumption 1 :
Sexual harassment crimes were
very few in the past.

Assumption II :

There is a new awareness about
sexual harassment in the society.

(A) Assumption I is strong

(B) Assumption Il is strong

(C) Both the assumptions are strong
(D) Neither assumption is strong

P/A/11/2016/2-A

Directions (Question Nos. 60 to 64) : The data
on 450 students who gave an examination
in Physics, Mathematics and Chemistry in
Class XI in a school is given below.

60.

61.

62.

63.

64.

Passed in all subjects = k6T
Failed in all subjects : 60
Failed in Physics A [y
Failed in Mathematics : 199
Failed in Chemistry b |
Passed in Physics only B 5
Passed in Mathematics only : 48
Passed in Chemistry only o= D2

How many failed in Physics only?
(A) 15

(B) 21
(C) 30
(D) 42

How many failed in one subject only?
(A) 152

(B) 144

(€] '6l

(D) 56

How many passed in Mathematics and
at least one more subject?

(A) 210

(B) 203

(C) 170

(D) 94

How many failed in two subjects only?
(A) 56

(B) 61
(C) 152
(D) 162

How many passed in at least one
subject?

(A) 450
(B) 390
(C) 304
(D) 167

[P.T. O.




féw (3 o 652 69) : P, O, R, S 3 T 4iw
=i B & 1 = Raardl, & <8 +1 faend e
T g & e §1 P oiR s sifyanfea afwend §
791 It Aa T aad g1 B it sl g @ 9w
3R 7 9 FE G B 0 | o faaifie S R
i roidi o, R R eI S@ =
Taent & ot 7 & g7t =1 Raert 1

65

66,

67.

68.

. 7 ¥ Fm = RaaEl = g7
(A) P
(B) Q
€ R

(D) S

T U gl ol el o 27
(A) P
(B) ©Q
€ R

(D) S

¥ @ 9 w1 Rawndl %1 27
(A) P
(B) @
) R

o) T

T A T IR B 87
(A)
(B)
(C)

h =3 QO v

(D)
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69.

70.

T A < Afeed §
(A P QR
B) O, R S
€ P QS
D) P, R S

8 9 TEe Uge 39 YA ¥ I § AR M <€
71| 8 o 9, Ugel oW T W g A g
BT | g 3R I T3 i /AN 1Y 41 27

(A) 3294, 1294
(B) 40 =d, 16 =¥
(C) 5644, 22 a§
(D) 64 =, 24 =

S (W Ho 71 3R 72) : AR & B demeA |
w1 Ee Fiefafag vl % W dim)

T1.

72.

738
429
156
273
894

Ffafge 1 4 |9-w1 SR A 790 9@ =
T ¥F AN, AR TAF G F V9
H IGF AT Alehan H ¥ TEaEl Hed
9 T S SR ?

Ay 2
B) 3
€ 5
(D) 7

T ¥ WOs TEN F I A /U Ik
(Reverse) %% & 918 IH @ q@ HersHan
&A1 &1 ARG 3F HH-| ame

(A) 1
(B) 2
€ 4
(D) 7




Directions (Question Nos. 65 to 69) : There
are five persons P, Q, R, Sand T. One is tennis
player, one is chess player and one is hockey
player. P and S are unmarried women and do
not play any sport. None of the women plays
cither chess or tennis. Among them there is a
married couple in which T is the husband.
Q is the brother of R and is neither a chess
player nor a hockey player.

65. Who is the tennis player?

(A) P
(B) ©
() R
D) S

66. Who is the hockey player?

(A) P
(B) ©
€) R
D) S

67. Who is the chess player?
A) P
(B) Q
€ R
Dy T

68. Who is the wife of T?
(A) P
(B) Q
(C) R
(D) S
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69. The three ladies are
(A) P, O, R
(B) Q! K-S
(C) P, QO S
(D) BFR, S

70. Rahul was four times as old as his son

8 years ago. After 8 years, Rahul will be
twice as old as his son. What are the
present ages of Rahul and his son?
(A) 32 years, 12 years

(B) 40 years, 16 years

(C) 56 years, 22 years

(D) 64 years, 24 years

Directions (Question Nos. 71 and 72) : See
the sequence of numbers below and answer
the following guestions.

738
429
156
273
894

71. Which of the following will be the
second digit of the third number from
the top when they are arranged in the
descending order, after the first digit in
each number is changed to the next
highest digit?

A) 2
(B) 3
(C) 5
(D) 7
72. Which of the following will be the last

digit of the second highest number,

after the positions of the digits in each
number are reversed?

(A) 1
(B) 2
€ 4
D) 7

[P.T.O.



73.. T TR W sl el @ ¥ 9l Rl &
Fa & 28 IR W fit g w@m 72 §,
TR o waEl i @wim g e 27

(&) 16, 12
(B) 20, 8
©) 24,4
D) 14, 14
74. T 7 30% 3% ywW FRA it 15 ot 9
gl | T | WEE 3 40% 3 W RRd ek

=l B9 & Tl emavEs 3w ¥ 35 Al
e Fordt | fiol B9 = R R

(A) 28%
(B) 33%
(C) 35%
D) 42%

75. TR A FMAFIN A oA E g aw R ¥

38t & &1 g A fom frenedf €7
A) 45
(B) 46
©) 47

(D) 48

P/A/11/2016/2-A

TEw (YW ¥ 76 ¥R 77) : TR 3 W 1€ ~=
AR afem # GEurgEs swmE i wen
frfefas vl & sw aRa) .

6l ©8 WEW % oM, 9 fawl (4 @R B) W
Y o= R wR fowe, @ e oA fowm
yiR % &9 A qwid w ¥ S=h T #R A oFa
TEAT 1500 ¥ | D% AL % a0 HFFT A IR HHE
BER1 5= TRt HRI 1 SR A drferenn 1 feamn
"T?Tl%: ‘

L 3UTE (A : B)

D el 8:7
wEl 1:2
i 3:2
it 7:5
L 7:8
B 7:9

76. T A ZRT SHE % GRA = TR SR 6
e, g6t Sl g S % R A= Tl
= T & e fereT Wi &7
(A) 75%
(B) 90%
(C) 130%
(D) 160%
77. WEQ AR AN & e St B g S=
Tt il 6t Fe @ w1 R
(A) 370
(B) 210
(C) 150

(D) 110




73. In a cage, there are ducks and rabbits. Directions (Question Nos. 76 and 77) : Study
If the total number of heads is 28 and the following pie chart and table carefully to

that of feet is 72, how many ducks and answer the questions given below.

bits are in th e? . .
rabbits are in the cag The pie chart shows percentage-wise

(A) 16, 12 distribution of the number of cars sold by
two distributors (A and B) together during
first six months. The total number of cars

(B) 20, 8 sold is 1500. The table shows the respective

ratio between the number of cars sold

by company A and company B during

C) 24, 4 six months :
D)-14; 14 Month Ratio (A : B)
January BT
February T2
74. Rohit scored 30% marks and failed by March 3.2
A 15 marks. Mohan scored 40% marks ey <=
and obtained 35 marks more than s :
. those required to pass. The pass May 7:8
percentage is June 7:9
(A) 28%
76. The number of cars sold by company A
during January is approximately what
(B) 33% percent of the number of cars sold
during June by the same company?
(C) 35% (A) 75%
B) 90%
(D) 42% (B) 3
(C) 130%
(D) 160%
75. Ajay ranked 9th from the top and
3 38th from the bottom in a class.
How many students are there in 77. What is the total number of cars sold by
the class? company B during February and March
1 together?
(A) 45
(A) 370
(. A (B) 210
(C) 47 (C) 150
(D) 48 (D) 110
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78.

79.

80.

81.

T e W Frefiaa @i wihe s @
ﬁw%ﬁaﬁmmﬁaﬁm
1 I ®

Tgel <1 9 W QY I W P ol 3R
3 A g W g

I3 9E& 1 27
(A) 64

(B) 27

(C) 8

(D) 216

v Tliegor | @@ qrEn T % U s
ufd T g Afgen 20 o964 s A B
Sfe Ys 999 10 wdq| ufd 3 $a s
IF 120 T4 =fgw| w8 +f rvavas ¢ fos weh
Tfeand e 9 60 wd9 ufa fe wd)
T [ HA F Ty feay ges =) wefwmen #
B T T A116e?

(4) 1

®) 3

(C) 6
(D) 12

9* A+B=C+D 3R A+D>B+C, ™
= 1 A - weey T vy @ e R0

A} A>B
B) A>C
(C) C>D
(D) B>D

dF =afrat 1 sl 9sH 140 fRo o ¥
A1 safedl % oo W IAAE 1:2:4 R
T8 0 =4fE o 7w (6o To ) = R?

(A) 140
(B) 120
(C) 60
(D) 240
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fEw (9 @0 82 4 84)

: AW M % e T

W & SR W o A % AW T Gl Wi oig
@ it ¥ 1 ARk 99 gu At # A N @ gE w5 wd
wet § w@ fen W Rl oM % ar oz |,
frfafan vt & = dfg)

82.

83.

84.

B85.

TRff 3R @ U 18R F T o feu s
7

(A)
(B)

(©)

0 A O O

(D)

Da'K%ﬁ?@'ﬂnwwamﬁm
A) S
B) T
@ v,
D) W

& ¥ 189 8 3R 3@ A 15%31&11%
anmam@m '

(A) G
(B) H
() J

(D) L

aaﬁmrgﬁmwwﬁﬁﬁl
ERULES S SR G SC R
(A) 3TTeRfIsH

(B) 91

(C) ey

(D) &=




78.

79.

80.

81.

The following operations are carried
out sequentially on a number to yield
the same starting number :

First divide by two, then take square
root and finally take the cube

What is this number?

(A) 64
(B) 27
€ 8

(D) 216

In a workshop, it is observed that in a
day each woman can make 20 pots
while each man can make 10 pots.
A total of exactly 120 pots need to be
made in a day. It is also required that
the all women together should make
exactly 60 pots in a day. The number of
men to be employed in the workshop to
achieve the above is

(a) 1
B) 3
C) 6
D) 12

If A+B=C+D and A+ D > B+C, then
which one of the following is definitely
wrong?

(A) A>B
B) A>C
(C) C>D
(D) B>D

The average weight of three persons is
equal to 140 kg. The ratio of these three
persons’ weights is 1: 2:4. What is the
weight (in kg) of the heaviest person?

(A) 140
(B) 120
(C) 60
(D) 240
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Directions : (Question Nos. 82 to 84) If letters
from A to M were written, leaving space for
one letter between every two letters, and then
the remaining letters were inserted beginning
with N and ending the series with Z after M,
answer the following questions.

82.

83.

84.

85.

Which letter would be third to the right
of the seventh letter from the left?

A) C
(B) O
€ R
(D) S
Which letter will be exactly between D
and K?
(A) S
B) T
€ v
(D) W
Which letter would be exactly in the
middle of the 18th letter from the

beginning and the 15th letter from the
end?

A) G
(B) H
(C) J
(D) L

Choose the best alternative as the
answer.

Atmosphere always has
(A) oxygen

(B) air

(C) germs

(D) dust

[P.T.O.



86. 0

87.

88.

89.

90.

[ T4 #

(A) SR
(B) daTeHifR
(C) aTcTHTR
(D) anfeufs

‘g wes | wA-H iy 7
(A) T EY

(B) =g Hfy

() fawi€fy

(D) 394w H§ ¥ HIE TE

fafafed § 52 99w 2
(A) FUTEEE

(B) <urafth

(C) swidem

(D) didr=r

“THTET %1 Sdl’ % AR &
(A) SFFATT AR

(B) e T

(C) FHETR

(D) ¥HdR WRH
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dw (w3 Ho 91 ¥ 95) : U U TEiw F UR W
Frefefaa wwt & 3w dfsw)

FaUH T W INEEE GEhfa @1 gHaR s
o R =e 9| @ 21 R el @ sFfEa
eIl ¥ W fon 21 9% A9 Wl srewm-vew s
1 FATSEH T & 8| 39 TRETE & HR AR 0
o egd @le ® | IuNREER H 9 A A T
a1 R @R T SR gomd sg @, avEd gemEe =
@ R g A oft R e A R WS & W
AEl SR @ fe # og| s g ame sft s
USRI SEgE F U FE % fae el awEn %
Fui-srel 3§ hEa 1 @ ¥ G et 92 R ) 3% dEwm
Yu=ie % HAUE 39 H AEF B0 18 A1 @ B
i S W W A H A AUER § we
il g A o Wl W AEE 9Ed €
a-faam ¥ ffay = = 4= @ w R, gn-dE
i1 9, et w+fi <fom §1 ygww @8 @ 2

91. sl vidt oft M FEqd = @it W 'Y
(A) SAEATHATE F HRY
(B) gfgam % Hrm
(C) HISIRETE & HRU

(D) WfaETE % HR

92. ‘‘grEEd yemEd W R # Al ®
(A) wEd AE T R
(B) wEdl Jed F @ B

(C) @ierl M gonsii & dHed A gfa-faow
1 w9e feaar ®

(D) wrEd o == @ R




93. 4% % fFm 3w I wel swgw mew §
27
(A) TEF
(B) Hamm
(C) 7™
(D) TmyfH

aeR # e B gg e R % waes @

(A) e Al 3 M | g @ ot

(B) Tia # geft SR W SR =9 e #

(C) ISR aTet g | T8N 31 U §

(D) I9sTrET wafeml i arel w o g
RIS

Il S AW R T W R w0 gun
%1 TR 6 B ww §7

INREEGI
(B) i
(C) ™
(D) g

94,

95.

g (394 Ho 96 ¥ 100) : 2w T iYW % R
R Ffafas vl % s g

fawa # w = gu = ®) SfF ah iy w1 03
98 el a1l difos gl @ = oge qe H
A I8 A T A1 W@ 2| HER T YAF WY F
T HE-feE g1 g0 B A F ww @, @ ¥
|19 3@, A9 % WA §H, T % WY AYEH
&4 ®1 A B fow Y R s @ g o
51 2 dl 98 ® TS| TR Ha # Ay 2, wibke
Tel 8| HaERie =fts @ o= i sy w awa
®1gdt BR % for gl 1 gl dwe gm = e
w1 |9 g:flagt F @ w3 =m B s
8| Hae =t w4 gelt ad @ v S 5 )
Fried gz Fergds w €, A @ s A ey
F Whd §| T g@ oTwRe % W & B, w4 ¥
A A 76| FH ¥ W N A B F iy srafs
T W & = gt sfem i # war 2
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98.

99,

100.

49

. HER H IdF B o1 FiEd 27

(A) R, SETE 3R TIH-¥

(B) == = uify

(C) ®931 F1 &

(D) @

SR PR TR e T Bl
®, @

(A) EFEE-ferE

(B) =

(C) =A9HH

(D) srEm

A= F Igfa FW F forw = srravaes 27
(A) T
(B) SyufErea

(C) afewopen
(D) HagTefierar

Haeefierdr @41 &7
(A) TE F g TR @ IS FE
(B) THU F G I@H 5@ IgNE FH

(C) & # gEl @R ga 9 3 IEw
HEN HATHS AT

(D) 39w # | F15 Tl

gl sfiaa =1 59 #2187
(A) =H H =T

(B) R¥ S{taq 1 &
(C) &= =1 @

(D) 3rafts =1 @

[P.T.O.
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